GUJARAT INDUSTRIES POWER COMPANY LIMITED BARODA

ANNEXURE-III (PART -II)

SCHEDULE OF QTY. AND RATES FOR THE ITEMS INCLUDES ONLY LABOUR COST

	SCHEDULE OF QTT. AND KATESTOK THE HEWST				
SR. NO.	BRIEF ITEM DESCRIPTION	QTY	UNIT	RATE	AMOUNT
A-1	DISMANTALLING WORK: Dismantalling work shall include working at all height including scaffolding up to 5.0mtr. height, stacking the serviceable material as directed by Engineer in charge. (scaffolding above 5.0mtr. Shall be paid seperatly under relavent items).				
1	Dismt. PCC of any mix	5	МЗ	655.00	3275.00
2	Dismnt. PCC of any mix but for content upto 0.03 M3 at one location	5	No.	756.00	3780.00
3	Dismnt R.C.C. of any mix	3	М3	1966.00	5898.00
4	Dismnt. RCC of any mix but for content upto 0.03 M3 at one location	2	No.	2016.00	4032.00
5	Dismnt. Brick masonry work in Cement mortar with plaster above 2m3 at one location	5	МЗ	484.00	2420.00
6	Dismnt. Brick masonry but for content up t o 2 M3 at one location	2	М3	433.00	866.00
7	Dismnt. & Chipping plaster of any mix	15	M2	60.00	900.00
8	Dismnt Floor and Dado tiles, kota stone, marble stone, granite stone, etc.	5	M2	76.00	380.00
9	Dismnt Roofing sheet any type up to 10 m2	30	M2	50.00	1500.00
10	Dismnt. for any type roofing sheet above 10m2	10	M2	63.00	630.00
11	Dismnt Removing floor spring of Alu. doors	5	No.	605.00	3025.00
12	Dismnt Removing of various pipe lines (excavation and backfilling, jari cutting, etc. shall be paid saperatly under relevant items)				
(a)	Dismnt GI pipe up to & incl. 25 mm dia.	25	RM	40.00	1000.00
` ,	Dismnt GI pipe above 25 mm & upto & incl. 50 mm dia.	25	RM	42.00	1050.00
` ′	Dismnt PVC pipe above 50mm dia and upto& incl. 150mm dia.	5	RM	48.00	240.00
13	Dismnt Fencing post (R.C.C. or Steel) including excavation & breaking cement concrete etc.	5	NO.	55.00	275.00
14	Dismnt Barbed wire each raws.	100	RM	6.00	600.00
15	Dismnt. Indian or Europian W.C.,Urinals, Wash basins, Nahni trap & similar fittings.	5	NO.	202.00	1010.00
16	Dismnt. Road cutting (including seal coat, carpet, semi grouting, & rubble soling,)	1	МЗ	1210.00	1210.00
17	Dismnt. Removing of glass panels from aluminium partition, doors, windows, etc. and refixing the same as required.		M2	91.00	182.00

SR. NO.	BRIEF ITEM DESCRIPTION	QTY	UNIT	RATE	AMOUNT
18	Dismnt. Cutting zari up to 50mm x 50mm with cutting machine / manually in brick masonry wall for piping work)		
19	Dismnt All types of brick flooring, paver block, etc.	5 1	Rm M2	60.00	300.00
20	DismntRemoval of doors, windows (steel or wooden),	ı	IVI∠	106.00	106.00
	Rolling shuters, etc. with frame.	1	M2	181.00	181.00
21	DismntRoof Gutter A.C. or G.I.	1	RM	55.00	55.00
22	DismntWooden / Aluminium partitions fully panelled / partly 'glazed / double skin , Alu. Doors, Windows, etc.	1	M2	166.00	166.00
23	Dismnt do - for partitions, doors, windows upto 2.0 M2	1	No	302.00	302.00
24	DismntFalse ceiling including removing of Aluminium grid work novateak/ gypsum board tiles, Aluminium strips G.I. hangers, hooks, etc.	1	M2	60.00	60.00
25	Dismnt do as above but for qty. upto 1.0M2	1	No	55.00	55.00
26	Dismnt. & removing of various pipe lines (excavation and backfilling, jari cutting, etc. shall be paid saperatly under relevant items).	,		00.00	00.00
(a)	Dismnt CI, SW, AC, piplines upto & incl. 100 mm dia.	1	RM	52.00	52.00
(b)	Dismnt CI, SW, AC, piplines above 100mm & upto 150 mm dia.	1	RM	66.00	66.00
(c)	Dismnt PVC pipe upto 50mm dia.	1	RM	40.00	40.00
(d)	DismntRCC pipe Upto 300 mm dia	1	RM	81.00	81.00
(e)	Dismnt RCC pipe 450 mm dia & upto 600 mm dia	1	RM	126.00	126.00
27	DismntChain link fencing including removing of M.S. angle posts, horizontal bracings, top 3 raws barbed wires, (excavation, breaking of cement concrete base of 'supports, etc shall be paid under relevant items)	40	Mo	22.22	222.22
28	Dismnt. chainlink fencing upto & inclusive 3.0mtr.	10	M2	60.00	600.00
	length at one location	2	No	50.00	100.00
29	DismntSame as above but for removing only chain link of any height.	10	M2	45.00	450.00
30	DismntRemoval of existing pea gravel Tar felt water proofing treatment.	1	M2	150.00	150.00
B-1	EARTHWORK, FILLING, DRESSING:				
1	Earthwork in excavation below ground level in foundation, trenches, pits, drains, chambers, etc. complete as directed by Engr. (excluding transportation of surplus earth)				
(a)	Earthwork-0.0 m to and including (-) 1.5 m	20	М3	151.00	3020.00
(b)	Earthwork- below 1.5 m & upto (-) 3.0 m	5	М3	171.00	855.00

SR.	BRIEF ITEM DESCRIPTION	QTY	UNIT	RATE	AMOUNT
NO.					
2	Backfilling to proper grade & level with selected				
	available earth within a plant area watering and				
	ramming to compaction, etc.complete	10	M3	66.00	660.00
3	Shifting of earth & debries from work point to dumping				
	yard within company premises by hand cart including		TOID	050.00	0500.00
1	loading, unloading, etc. complete. Surface dressing of the ground as directed, excavation	10	TRIP	252.00	2520.00
4	/ filling upto av.100mm thickness, etc. complete.				
	(excluding transportation of surplus earth)				
	(exercise in an open anon or earprise can in)	50	M2	20.00	1000.00
5	Excavation for qty. upto 0.05 m3 at one location	1	No	202.00	202.00
6	Excavation for pit including dewatering, removing of				
	mud, shoring, strutting, etc.for attending lekages of				
	pipe line, etc. complete	1	МЗ	121.00	121.00
C-1	FOUNDATION & CONCRETE WORKS:				
1	Labour charges for cutting, lapping, placing and fixing				
	in position of M.S./ Tor reinforcement bars at all				
	elevations as directed	0.5	MT	5544.00	2772.00
2	Transportation of RCC precast covers including				
	shifting at location, loading, unloading, placing in				
	position, etc. complete for unit weight not exceeding 100 Kg.		No	50.00	50.00
D-1	BRICK WORK, PLASTER, FLOORING:	1	INO	50.00	50.00
1	Making tanccha on RCC / plastered surface as per instruction	5	M2	202.00	1010.00
2	Repolshing work of existing terrazo/ kota stone floor &			202.00	1010.00
	skirting with machine etc. complete.	10	M2	96.00	960.00
3	Cutting & making hole in marble/granite/kota for fixing				
	wb/sink	1	NO	605.00	605.00
4	Labour charges for laying all types of floor tiles & dado				
	including cement mortar bedding, filling joints with				
	white cement colour filler, curing, etc. complete (Tiles				
	shall be issued free of cost by GIPCL at stores).				
	Deliabing adges of Marble stars / Vata stars	25	M2	197.00	4925.00
5	Polishing edges of Marble stone / Kota stone	1	Rm	151.00	151.00
6	Polishing edges of Granite stone	1	Rm	277.00	277.00
7	Full round Moulding and polishing of marble/ granite/ kota stone	1	Rm	222.00	222.00
8	Labour Charges for laying precast floor pavement		13111	222.00	222.00
	using cement concrete blocks of approved shape and				
	size on 50 mm thk sand bedding etc. complete.				
	(Concrete precast blocks shall be issued free of cost				
	by GIPCL at store).	50	M2	181.00	9050.00
9	Labour charges for hollow block masonry in Cm 1:6	75	M2	151.00	11325.00
10	Labour charges for fixing curbing concrete blocks,				
	filling joints with cement	25	RM	50.00	1250.00
E-1	DOORS, WINDOWS, PARTITION, WOOD 'WORK,				
	ROLLING SHUTTER, CEILING, ETC:				

SR. NO.	BRIEF ITEM DESCRIPTION	QTY	UNIT	RATE	AMOUNT
1	Labour charges for fixing of door/window including grouting holdfasts and finishing etc. complete	5	M2	464.00	2320.00
2	Labour charges for fixing mortise lock including necessary screws, etc. complete.(Mortice lock shall be issued free of cost by 'GIPCL at stores).				
3	Labour charges for fixing door closure including necessary screws, labours, etc. complete. (Door closer shall be issued free of cost by GIPCL at		No	242.00	2420.00
	stores).	10	No	252.00	2520.00
4	Labour charges for fixing floor spring	2	No	302.00	604.00
5	Labour charges for fixing in position false ceiling with alu. grid work using avalible materials, providing & fixing GI hooks, 8 SWG GI wire suspension, necessary hardwares, fixing Gypsum boards in alu. frame work, etc. complete.		M2	706.00	706.00
F -1	PAINTING:				
	The materials required for item no. 1 to 3 such as synthetic enamel paint, Alu. Paint, epoxy paint, acrylic / cement based exterior paints, oil bound distemper, plastic paint, primer, thinner shall be issued free of cost by GIPCL.				
1	Labour charges for painting surfaces with two coats of synthetic oil paint/ Alu, paint / epoxy paint, etc. at all elevations including preparation of surfaces, scaffolding, etc. complete as directed by Engr.		M2	45.00	1125.00
2	Labour charges for painting surfaces with two coats of Acrylic / cement based exterior paint at all elevations including preparation of surfaces, scaffolding, etc. complete as directed by Engr.		M2	46.00	1150.00
3	Labour charges for painting surfaces with two coats of Oil Bound Distemper / plastic paint at all elevations including preparation of surfaces, scaffolding, etc. complete as directed by Engr.		M2	48.00	1200.00
G-1	WATER SUPPLY AND SANITARY WORKS:				
	The materials required for following items (1 to 6) such as WC vessals, P/S traps, wash basins, bib tap, pillar cock, ball valve, angle cock, PVC supply pipe, waste pipe, waste couplin, liquid soap dispenser, mirror, jet spray, seat cover, floor traps, S.S. jali, bathroom 'fixtures & fittings, PVC, GI, CI pipes & its fittings, stoneware pipes, RCC hume pipe, collars shall be issued free of cost by GIPCL.				

SR. NO.	BRIEF ITEM DESCRIPTION	QTY	UNIT	RATE	AMOUNT
1	Charges for fixing in position various vessals with 'P' or 'S' glazed trap as required including cutting the wall/ floor, if required and making good the same, jointing inlet & outlet connections, etc. complete as directed by Engr. for the following:				
(a)	Charges for fixing orissa / European patterns WC pan.				
(b)	Charges for fixing Wash hand basin / Flat back urinal	2	No	605.00	1210.00
2	Charges for fixing various fixtures & fittings including necessary screws, nails, etc.for Bib tap, pillar cock, ball valve, angle cock, PVC supply pipe, waste pipe, waste couplin, Liquid soap dispenser. Mirror, jet spray, seat cover, etc.	5 75	No No	292.00 91.00	1460.00 6825.00
3	Charges for laying pipe lines with fixtures / fittings,including fixing with clamps, jointing with cement mortar joints, etc. complete for the following:		140	31.00	3320.00
(a)	Charges for laying-GI pipe lines 15 mm/20mm dia.	30	Rmt.	45.00	1350.00
(b)	Charges for laying-GI pipe lines 25mm/40mm dia	25	Rmt.	66.00	1650.00
(c)	Charges for laying-GI pipe lines 50mm dia	5	Rmt.	76.00	380.00
4	Charges for laying pipe lines with fixtures / fittings, including fixing with clamps, jointing with cement mortar joints, etc. complete for the following:				0.00
	Charges for laying-PVC pipeline 25mm to 45mm dia.	1	Rmt.	71.00	71.00
	Charges for laying-PVC pipeline 50mm to 70mm dia.	1	Rmt.	71.00	71.00
(c)	Charges for laying-PVC pipeline 75mm to 100 mm	1	Rmt.	81.00	81.00
` ′	Charges for laying-C.I Pipeline 75mm	1	Rmt.	91.00	91.00
(e)	Charges for laying-C.I. Pipeline 100 mm dia.	1	Rmt.	96.00	96.00
(f)	Charges for laying-C.I. Pipeline 150 mm dia	1	Rmt.	106.00	106.00
5	Charges for laying of RCC hume pipe including transportation from store, etc. complete.				
(a)	Charges for laying-for 300 mm & 450mm dia. Pipeline	1	Rmt	131.00	131.00
` ,	Charges for laying-For 600 mm dia.pipe line	1	Rmt.	302.00	302.00
6	Labour charges for fixing GI union in existing line including cutting the line, threding, taping new line, excavation, backfilling, etc. complete.	1	No.	50.00	50.00
H-1	ROOF COVERING, WATER PROOFING TREATMENT:				
1	Labour Charges for fixing in position 6mm thick A.C. sheets and fixtures on roofs, side walls, etc. at all elevations including supply & fixing all accessories like 8 mm dia G.I. J or L bolts, bitumen and G I washers, etc. cutting to proper size mitring, laps, scaffolding, etc. (A.C. / G.I. sheets & Roofing specials shall be issued free of cost by GIPCL)				
(a)	Charges for fixing-A.C./ GI corrugated sheet.	25	M2	136.00	3400.00

SR.	BRIEF ITEM DESCRIPTION	QTY	UNIT	RATE	AMOUNT
NO.					
, ,	Charges for fixing-Roofing specials such as ridges, northlight curves, gutter, etc.	6	No.	76.00	456.00
I-1	MISC. WORKS:				
1	Charges for applying post anti-termite treatment 'including drilling of holes filling with cement after completion of treatment, etc. complete as per specifications & as directed by Engr. (Necessary insecticides required for the treatment shall be supplied free of cost by GIPCL at store).		M2	76.00	1900.00
2	Charges for fixing glass pane with necessary putty, pins, cutting, etc. (glass shall be issued free of cost by GIPCL).	10	M2	131.00	1310.00
3	Repairing serviceing rolling shutters of various sizes by opening of the cover, servicing, oiling, greasing, fitting of old springs, nuts, etc. complete including replacing of the parts (The payment of parts will be made in respective item of supply of parts.)		No.	5040.00	10080.00
4	Labour chrges for repairing of Alu. door shutter and servicing floor spring as per instruction. Including changing oil, removing of door if required, setting, fitting loose sections of door, etc.complete. (The 'payment of parts will be made in respective item for supply of parts.)		NO		
(a)	Labour cgarges-For setting floor spring / pivot / door closer etc.	10	NO	504.00	5040.00
(b)	Labour charges-For serviceing floor spring incl.replacing oil etc.	5	NO	605.00	3025.00
5	Making pockets/ holes in RCC work approxi. 100 x 100 x 230mm size with all tools & tackles, core cutting machine, etc. complete.		NO	2117.00	2117.00
	Making pockets/ holes in Brick work approxi. Upto 100mm dia. X250mm depth with all tools & tackles, core cutting machine, etc. complete.	5	No	504.00	2520.00
7	Charges for fixing GI barbed wire 14 SWG 2 ply & 4 point on existing fencing post.point on existing fencing post incl. providing & fixing GI pins as required. (GI barbed wires shall be issued free of cost by GIPCL)				0.4.50.00
8	Charges for fixing old/new chain link / PVC fence to existing posts including supply & fixing GI pins as required. (Chainlink / PVC fence shall be issued free		Rmt.	86.00	2150.00
	of cost by GIPCL)	50	M2	30.00	1500.00
9	Charges for fixing PVC downtake pipelines with fittings including fixing joints, GI / M.S. flat clamps, etc. at all elevations, scaffolding, etc. complete. (PVC pipes & fittings shall be issued free of cost by GIPCL).				
(a)	Charges for fixing-For 100 mm dia. Pipeline	10	Rmt.	202.00	2020.00
(b)	Charges for fixing-For 150 mmm dia. Pipeline	10	Rmt	282.00	2820.00

SR.	BRIEF ITEM DESCRIPTION	QTY	UNIT	RATE	AMOUNT
NO.					
10	Labour charges for fixing of wooden partition removed earlier including supplying & fixing necessary hardwares, rectifications / modifications if required, etc. as directed by Engineer.		M2	200 00	200.00
	, ,	1	IVIZ	806.00	806.00
11	Servicing of Venetion blind - horizantal/vertical including cleaning, lubricating mechanisum, etc.	10	No	312.00	3120.00
	TOTAL AMOUNT Rs.				144321.00
Note:					
1	Cement, reinforcement steel and the materials indicate free of cost by GIPCL at store.	d in the	respec	ctive items will	be issued
	Signature of Tenderer				